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Change

Example 2.3

Solution

Asset weights:

wa = 250/(250 + 750) = 0.25
wn = 750/(250 + 750) = 0.75

Expected return on the individual assets:

E(R,) = P(Scenario,;) x Ry, + P(Scenarios) % Ry + (Scenariog) x Ry
E(R,) = (0.2)(0.45) + (0.35)(0.21) + (0.45)(0.04) = 0.1815
E(Rp) = P(Scenario; ) x Ry, + P(Scenarioy) % Rpy + P(Scenariog) x Rpy
E(Rp) = (0.2)(0.3) + (0.35)(0.5) + (0.45)(0.1) = 0.28

Variance of the individual assets:

Var(Ra) = P(Scenario ){(Ra1 — E(Ra)}® + P(Scenario) {(Ba2 — E(Ra)}?
+P(Scenariog) {(Raz — E(Ra)}?

Var(Ra) = (0.2)(0.45 — 0.1815)* + (0. 35)(0. 21 — 0.1815)?

+(0.45)(0. 04 — 0.1815)>

Var(Ry) = 0.0237

Var(Rg) = P(Scenario:){(Rm — E(Rg)}? + P(Scenarios){(Rp2 — E(Rp)}?
+P(Scenarios){(Res — E(Rg)}?

Var(Rz) = (0.2)(0.3 — 0.28)% + (0.35)(0.5 — 0. 28)* + (0.45)(0.1 — 0. 28)°
Var(Rg) = 0.0316

Covariance of the asset returns:

Cov(R4, Rp) = P(Scenario, )[Ray — E(R4)][Re: — E(Rg)]

+P(Scenarios) [Ras — E(R4)][Rpe — E(Rp)]

+P(Scenariog) [Ras — E(R4)][Rea — E(Rp)]

Cov(Ra, Rp) = (0.2)(0. 45 — 0.1815)(0.3 — 0. 28) + (0. 35)(0. 21 — 0. 1815)(0. 5 — 0. 28)
+(0.45)(0. 04 — 0.1815)(0. 1 — 0. 28)

Cov(Ra, Rp) — 0.01473
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01/29/2019 SS17.Fixed Income (2) / R54. Understanding Fixed-Income Risk and Equation 5 should read:

Return /L 2/ Study Text
eturn / Lesson 2/ Study Tex ApproxCon=(PV-) + (PV+) — [2 x (PV0)]
(aYield)2 x (PVo)

Page 2 www.efficientlearning.com/support/updates



	Change Log for CFA 2019 Level I
	Change Log for CFA 2019 Level I

